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Q1) An autotransformer is rated at (13.8 kV/13.2 kV), 2000 kVA. if it is
converted to an ordinary transformer, evaluate its rating. [12%]

Q2) A three-phase transformer hank is required to supply 900 kVA and
have (132/33) kV voltage ratio. Find the ratings of each individual
transformer in the bank (HV,LV,turns ratio and apparent power) if
the transformer bank is connected as: a) Y-A  b) V-V [16%] -
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Q3) Find the vector symbols for the following vector diagram of a three
phase transformer. ", [6%]
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Q4) A 100 MVA, 230/115 —kV A
impedance of 0.059/70° p
-lagging, evaluate its volia

- three-phase transformer has a series
u. If it supplies a load of 80 MVA at 0.85 pf
ge regulation b__y using pu quantities. [16%]

Q5) Two 6600/440 step-down transformer
ratings are connected in parallel: S

~ A: 250 kVA and impedance of 0.05[25;20 pu based on its ratings.

B: 600 kVA and impedance of 0.04/80.9° pu based on its ratings.
How these transformers share load of 680 kW at 0.8 pf lagging.[20%]

s (A&B) having the following




Q6) a-State the name and the function of the 6 components indicated on

the machine shown in Fig. 1: -. [12%]
l : ~ No Name ' Function .
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b-Is the machine in Fig. 1 a dc generator or motor and say why? [4%] _
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Q7) For the machine shown in Fig. 2: ek 4 ouad iks Wappea 1N
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a-What is the type ofits armature winding? ——————— — [4%] Cenerief v
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: (-/\ b-If the machine has: ®,=0.01 Wb, n=2500 rpm, 15 turns/coil and
__current per conductor=10 A, evaluate its indqced voltage and torqgue.




